IN THE SUPREME COURT FOR THE STATE OF ALASKA

IN RE 2011 REDISTRICTING CASES

Fairbanks

Supreme Ct No. S-14721 Superior Ct Case No. 4FA-11-2209CI

	AFFIDAVIT OF COUNSEL
State of Alaska)) §

- I, Jason A. Gazewood, after being duly sworn, state as follows:
 - 1. I am Plaintiff's co-counsel in the about captioned proceeding, and a managing partner in the firm Gazewood & Weiner, PC.
 - 2. The attached billings are true and correct billings for actual time and costs incurred in the above captioned matter: In Re 2011 Redistricting Cases S14721.
 - 3. The rates charged for Mr. Walleri, our firm paralegals, and myself are the usual and customary fees charged by the respective attorneys and paralegals for cases of this kind.

Jason A. Gazewood

Sworn and subscribed before me this 7th day of January, 2013

Notary Public for the State of Alaska.

My Commission expires on July 12, 2014

Certificate of Service

I certify that a true and correct copy of the foregoing was served by mail and e-mail on this January 7, 2013 to:

Mr. Michael D. White Nicole A Corr Patton Boggs, LLP 601 5th Ave., Suite 700 Anchorage, AK 99501 mwhite@pattonboggs.com ncorr@pattonboggs.com

Mr. Thomas F. Klinker Birch, Horton, Bittner & Cherot 127 W. 7th Ave. Anchorage, AK 99501 tklinkner@bhb.com

cc: (Amicus)

Ms. Jill Dolan Legal Department Fairbanks North Star Borough P.O. Box 71267 Fairbanks, AK 99707 jdolan@co.fairbanks.ak.us

Ms Carol J. Brown Association of Village Council Presidents 101A Main Street Bethel AK 99550 cbrown@aven.org

Mr. Joseph N. Levesque Walker & Levesque 731 N Street

Ms. Marsha Davis

Calista Corporation

Anchorage, AK 99518

301 Calista Court

Anchorage, AK 99501 joe-wwa@ak.net

Mr. Scott A Brandt-Erichsen Borough Attorney Ketchikan Gateway Borough 1900 First Ave., Suite 215 mdavis@calistacorp.com Ketchikan, Alaska 99901 scottb@kgbak.us

> Ms Natalie Landreth Native American Rights Fund 801 B Street, Suite 401 Anchorage, AK 99501 landreth@narf.org

GAZEWOOD & WEINER, PC

1008 16th Avenue Suite 200 Fairbanks, Alaska 99701 Tel. (907) 452-5196 Fax (907) 456-7058 info@fairbankslaw.com

Gazewood & Weiner

Attorneys at Law, P.C. 1008 16th Avenue, Ste. 200 Fairbanks, AK 99701

Redistricting
Alaska Redistricting

January 07, 2013

Invoice # 44550

Professional Services

		Hrs/Rate	Amount
4/21/2012 MW	Correspond via email and telephone call with Chase Hensel	3.50 250.00/hr	875.00
4/22/2012 MW	Monitor email exchange between Lavesque & Dolan	250.00/hr	NO CHARGE
4/23/2012 MW	Correspond via email with Chase Hensel	0.25 250.00/hr	62.50
4/24/2012 MW	Meeting with client, correspond via email with Chase Hensel, email exchange with Chase, coordinate information with NARF & Calista, monitor board meeting, meeting with JD to coordinate appeal	3.75 250.00/hr	937.50
4/25/2012 MW	Meeting with client, telephone call with Amicus, telephone call with Landreth & Davis re: TB in Washington D.C. and coordinate activities, telephone call with LL re: new compromise plan, start drafting petition for review on process issues, scheduling conference with appellate clerk, email exchange with clerks office and parties re: record, receive and review ARB press release	5.00 250.00/hr	1,250.00
4/26/2012 MW	Continue drafting PFR, telephone call to JD, telephone call to M. Davis, receive email from Chase re: census data, search census data in response	2.25 250.00/hr	562.50
4/27/2012 MW	Receive and review scheduling order, work on PFR	5.50 250.00/hr	1,375.00

		Hrs/Rate	Amount
4/27/2012 KS	Telephone call from Chase Hensel	0.10 150.00/hr	15.00
4/28/2012 MW	Continue drafting PFR	2.00 250.00/hr	500.00
4/29/2012 MW	Continue drafting PFR	0.75 250.00/hr	187.50
4/30/2012 KS	Correspond via email with Mike Walleri; meet with Mike	0.40 150.00/hr	60.00
MW	Continue drafting PFR, telephone call to JD & Klinkner re: results of findings and decision to not file PFR and incorporate in reply, telephone call to client re: same	5.25 250.00/hr	1,312.50
5/1/2012 KS	Telephone call from Karen at Hompesch & Evans	0.10 150.00/hr	15.00
JG	Review email from Jim Tucker; review email concerning contract; review exhibits and recent filings; review draft objections; review case law relating to implementation of benchmark plan; review Petersburg objection to Notice of Compliance; review case law relating to implementation of draft plan; review email concerning case status; legal research on DOJ and plan objections; legal research on interim plan; review 4/17 order for briefing	7.60 250.00/hr	1,900.00
MVV	Receive and review ARB PFR, file notice that Riley will not file PFR	1.50 250.00/hr	375.00
5/2/2012 JG	Telephone call to Walleri; meet with Walleri; legal research	4.40 250.00/hr	1,100.00
MW	Meeting with JD re: coordination of reply to ARB, meeting with Wenstrup to coordinate reply to ARB, legal research, telephone call to NARF & Klinker re: joint EOR, forward index to NARF	2.75 250.00/hr	687.50
5/3/2012 JG	Legal Research; review Arizona coalition case; review email from Dolan; review order concerning Notice of Compliance; review record	1.90 250.00/hr	475.00
MW	Review of files, telephone call to Chase re: final report, telephone call to NARF & Calista, telephone call to M. Davis re: Chase report, continue review of files, receive petition for interim plan, receive scheduling order on petition for interim plan	6.50 250.00/hr	1,625.00
5/4/2012 JG	Review orders; conference with Walleri and others; conference with Arrington; research on plan for elections	4.80 250.00/hr	1,200.00

		Hrs/Rate	Amount
5/4/2012 KS	Finalize motion, meeting with Mike Walleri, prepare affidavit	1.30 150.00/hr	195.00
MVV	Review petition for interim plan and note deficiencies in service, begin draft opposition to interim plan petition, email exchange with clerk re: deficiencies in service and scheduling, motion to extend deadlines, telephone calls with Klinkner and amicus to coordinate responses, telephone call with Chase Hensel re: his report, receive and review order to show cause and revise scheduling order and meeting with Gazewood re: same, follow up with affidavit for Chase Hensel, meeting with Chase re: his affidavit, telephone call and email with Arrington re: advise on Hensel report	9.75 250.00/hr	2,437.50
5/5/2012 MW	Begin drafting opposition to interim plan, receive email from J. Dolan re: memo, email exchange with Schultz, email memo from S. Levesque	12.25 250.00/hr	3,062.50
JG	Research for response; review email from Walleri; research into Division of Elections deadlines; review Hensel report	3.70 250.00/hr	925.00
5/6/2012 JG	Draft response; telephone call with Levesque and Walleri; revise affidavit of Hensel	4.70 250.00/hr	1,175.00
5/7/2012 JG	Attend teleconference; conference regarding brief formatting; work on motion; research on preclearance changes	3.20 250.00/hr	800.00
KS	Telephone call from Joe Levesque's Office, telephone call to Mike Walleri, draft table of contents, prepare letter, draft table of authorities	1.70 150.00/hr	255.00
5/8/2012 MW	Complete opposition to main petition, revise opposition to interim plan, meeting with Gazewood for further revisions, supervise filings, email exchange with clerk re: printed versions, email exchange with Klinkner re: Petersburg drafts	12.00 250.00/hr	3,000.00
JG	Review final opposition; review brief	7.80 250.00/hr	1,950.00
KS	Telephone call to Date Line Digital Printing, continue drafting table of authorities, revise appeal	7.60 150.00/hr	1,140.00
5/9/2012 MW	Review all filings, prepare for oral argument, email exchange with client to arrange client listening in, email exchange with clients, telephone call to divide time, meeting with Gazewood to review case in general, telephone call to M. Davis to discuss and schedule meeting with Klinkner, travel from Fairbanks to Anchorage, meeting with Klinkner, Davis & Gazewood to prepare for oral argument	8.50 250.00/hr	2,125.00

			Hrs/Rate	Amount
5/9/2012	. JG	Review filings; review briefs of parties; attend meeting with Klickner, Walleri and Davis	4.20 250.00/hr	1,050.00
5/10/2012	JG	Review briefs of parties; meet with Walleri; attend oral argument; travel	10.00 250.00/hr	2,500.00
	KS	Telephone call from George Riley, telephone call to Chase Hensel, telephone call to Hotel Captain Cook, telephone call to Alaska Airlines	0.50 150.00/hr	75.00
	MW	Review briefs of parties; meet with Gazewood; attend oral argument; travel	10.00 250.00/hr	2,500.00
5/11/2012	MW	Meeting with client, telephone call to Bob Herron re: changes in his district to prepare for objections, email from Herron and Edgmon re: same, telephone call to M. Davis re: VRA strategy	0.50 250.00/hr	125.00
	JG	Meeting with Walleri; research on cert and filing with 9th circuit	1.50 250.00/hr	375.00
	KS	Correspond via email to George Riley	0.10 150.00/hr	15.00
5/12/2012	JG	Review case law related to appeal; review email from expert Hensel; review order; review email concerning cross-petition for review; review petitions; review email from Walleri; review email from Klickner and Schulz; review Hensel report; review report for DOJ; review proclamation plan; review case law related to use of amended plan; review Arrington emails; review correspondence from expert; review email from Walleri; review email from Davis; review email from Walleri	4.70 250.00/hr	1,175.00
5/13/2012	JG	Review Walleri emails; review emails from Dolan; review emails from Levesque; review DOJ guidelines	4.70 250.00/hr	1,175.00
5/14/2012	JG	Conference with Walleri' review DOJ guidelines; review cases	2.10 250.00/hr	525.00
	MW	Telephone conference with M. Davis re: VRA strategy and opposition to new plan, telephone call to LL re: same, monitor board meeting	1.75 250.00/hr	437.50
5/15/2012	MW	Correspond via text with client, received and review notice of compliance from ARB	0.50 250.00/hr	125.00
		Conference with Walleri; review cases; review Hensel email; review Hensel affidavit; review Walleri proposed findings; review Dolan email; research on cert and next step; review email from Walleri; review email from Levesque; review Court order; review filing	3.60 250.00/hr	900.00

		Hrs/Rate	Amount
5/16/2012 JG	Review filings related to Petersburg plaintiffs; research on reconsideration request; review Aleutians filings; research for motion; case law research; review transcripts	6.00 250.00/hr	1,500.00
MW	Receive and review Petersburg non-objection to ARB plan, telephone call to Brooks Chandler re: Haines Borough objections to plan	0.75 250.00/hr	187.50
5/17/2012 MVV	Continue drafting opposition to interim plan	3.00 250.00/hr	750.00
JG	Review filing of AEB on change of address; review record related to DOJ preclearance; review order of 5/10	1.00 250.00/hr	250.00
5/18/2012 KS	Revise pleading, finalize Riley plaintiff's objections	0.80 150.00/hr	120.00
MVV	Complete drafting of opposition to interim plan, review revisions and finalize, receive and review Haines objections, receive and review Rights Coalition objections, recieve and review Chilkat Village and Sealaska objections	4.25 250.00/hr	1,062.50
JG	Review petition; finalize petition; review notice of compliance; review email concerning filing; review filing of Petersburg plaintiffs	1.80 250.00/hr	450.00
5/19/2012 MW	Legal Research	0.75 250.00/hr	187.50
JG	Review Metlakatla filings; review Sealaska objection; review objection of Chilkoot tribe; review objection of Haines Borough; review objections to plan; review Rights Coalition filing	2.10 250.00/hr	525.00
5/20/2012 JG	Review objection by RIGHT's Coalition; review filings by Sealaska, Chilkoot, and Haines; review pleadings	0.70 250.00/hr	175.00
5/21/2012 KS	Correspond via email to George Riley, draft affidavit of Joseph Hardenbrook, draft memorandum	0.80 150.00/hr	120.00
JG	Review Hardenbrook affidavit; review stay memorandum; revise stay memorandum; review order and revise; review email from Calista attorney Davis; review notes from meeting	1.30 250.00/hr	325.00
MW	Draft affidavit for Hardenbrook, draft stay of implementation per section 5, meeting with clients, meeting with J. Hardenbrook to review and revise affidavit in support of motion for stay	5.25 250.00/hr	1,312.50
5/22/2012 KS	Correspond via email with George Riley, finalize motion to stay	0.50 150.00/hr	75.00

		Hrs/Rate	Amount
5/22/2012 MW	Draft analysis of VRA "Step process claim", receive and review order from Supreme Court, forward to clients, email exchange with clients, telephone call to Jill Dolan, telephone calls re: coordination with amicus, review and revise motion for stay, meeting with J. Gazewood to discuss Supreme Court options and outline work to be done with paralegal	4.25 250.00/hr	1,062.50
JG	Review case - Georgia v. US 411 US 526; review Walleri filing; conference re: Supreme Court; conference regarding DOJ filing; conference re: cases; review filings	7.20 250.00/hr	1,800.00
5/23/2012 JG	Review case - Lopez v Monterey County, CA; telephone call to Covell; review findings	10.30 250.00/hr	2,575.00
5/24/2012 JG	Review case - Bartlett v Stephenson	1.00 250.00/hr	250.00
KS	Correspond via email to George Riley	0.10 150.00/hr	15.00
5/25/2012 JG	Review case - Perry v Perez (TX); conference re: pre-clearance deadlines and Democratic Party	4.20 250.00/hr	1,050.00
KS	Correspond via email to Natalie Landreth, correspond via email to George Riley and Mike Walleri	0.20 150.00/hr	30.00
5/26/2012 JG	Review record, order, motion to stay and affidavit, FNSB billing, correspondence via email from attorney Dolan, correspondence via email from Calista and Davis	0.90 250.00/hr	225.00
5/27/2012 JG	Review filing of Mettlakatla, order of May 24, DOJ standards and notes on state expert	1.00 250.00/hr	250.00
5/28/2012 JG	Review Petersburg petition and correspondence from expert Hensel	0.80 250.00/hr	200.00
5/29/2012 JG	Conference regarding case status, review filing of ADP	0.40 250.00/hr	100.00
KS	Correspond via email to George Riley, correspond via email to Mike Walleri	0.30 150.00/hr	45.00
5/30/2012 KS	Correspond via email with George Riley	0.10 150.00/hr	15.00
5/31/2012 JG	Meeting with Walleri and client; meet with Walleri, Riley and Dearborn; telephone call to Natalie Landruth; telephone call to Marica Davis	2.60 250.00/hr	650.00

		Hrs/Rate	Amount
5/31/2012 KS	Correspond via email with Mike Walleri	0.10 150.00/hr	15.00
6/1/2012 JG	Review order on Metlakatla Tribe; review order on Democratic Party; review order on Petersburg petition; review order on request for stay	0.50 250.00/hr	125.00
6/2/2012 JG	Review order of 5/30; review email from Walleri; review filings by Metlakatla	0.50 250.00/hr	125.00
6/3/2012 JG	Conference with attorney John	0.10 250.00/hr	25.00
6/4/2012 KS	Correspond via email with Mike Walleri; correspond via email with George Riley and Mike	0.30 150.00/hr	45.00
JG	Review Handley report; review record; review Metlakatla Motion	1.50 250.00/hr	375.00
6/5/2012 KS	Correspond via email with George Riley and Mike	0.10 150.00/hr	15.00
6/8/2012 JG	Review Section 5 lawsuit	2.30 250.00/hr	575.00
6/9/2012 JG	Review Section 5 lawsuit	0.80 250.00/hr	200.00
MVV	Receive and review federal Sec. 5 complaint; inform clients	0.50 250.00/hr	125.00
6/11/2012 JG	Review 38 boundaries	0.20 250.00/hr	50.00
6/12/2012 JG	Review email from Walleri	0.10 250.00/hr	25.00
6/13/2012 JG	Conference with Walleri	0.30 250.00/hr	75.00
6/14/2012 KS	Correspond via email with Riley and Walleri	0.10 150.00/hr	15.00
6/17/2012 MW	Receive and review denial of TRO; email exchange with clients; meet with client	1.00 250.00/hr	250.00
6/18/2012 JG	Review Section 5 lawsuit; review Division of Elections filing; review order; review email from Levesque; review email from Walleri	0.60 250.00/hr	150.00

		Hrs/Rate	Amount
6/19/2012 KS	Correspond via email with Riley and Walleri	0.10 150.00/hr	15.00
MVV	Telephone conference with N. Landreth monitor Sec. 5 litigation and discuss strategy	0.50 250.00/hr	125.00
JG	Review order	0.10 250.00/hr	25.00
6/21/2012 JG	Review application	0.10 250.00/hr	25.00
6/22/2012 JG	Review pleadings by Division of Election; review order; review date change on order	0.70 250.00/hr	175.00
6/23/2012 JG	Review information on DOJ guidelines; review order; review opposition to Motion for Preliminary Injunction	0.80 250.00/hr	200.00
6/24/2012 JG	Review opposition to motion for preliminary injunction; review email from attorney Dolan	2.00 250.00/hr	500.00
6/26/2012 KS	Correspond via email to Riley; correspond via email to Walleri	0.20 150.00/hr	30.00
JG	Review order	0.10 250.00/hr	25.00
6/27/2012 JG	Review notice	0.10 250.00/hr	25.00
MVV	Receive news of pre-clearance	0.25 250.00/hr	62.50
6/28/2012 JG	Conference regarding case status and appeal; conference regarding orders	0.40 250.00/hr	100.00
MVV	Meet with Clients re: pre-clearance development; telephone conference with Gazewood re: update on developments	1.50 250.00/hr	375.00
7/1/2012 JG	Review orders and case status	0.60 250.00/hr	150.00
7/3/2012 JG	Conference with attorney John	0.20 250.00/hr	50.00
7/4/2012 JG	Review note concerning plan approval, correspond via email from client, review filing of Board Record, review notice of filing fourth supplement	0.60 250.00/hr	150.00

			Hrs/Rate	Amount
7/5/2012	JG	Review notice of filing	0.10 250.00/hr	25.00
7/6/2012	JG	Review notice of fourth supplement, review notice of filing of preclearance	0.30 250.00/hr	75.00
12/19/2012	JG	Review case status	0.90 250.00/hr	225.00
12/28/2012	JG	Review opinion; review email concerning case; telephone call to attorney Walleri; conference with George Riley	4.20 250.00/hr	1,050.00
	MW	Review opinion; conference with Amicus re: opinion	1.20 250.00/hr	300.00
	MW	Conference with Amicus re: opinion	3.00 250.00/hr	750.00
1/1/2013	JG	Review Supreme Court opinion; review cases related to overturning election results	2.10 250.00/hr	525.00
1/2/2013	MW	Meeting with clients to discuss opinion and fee award	3.00 250.00/hr	750.00
	MW	Meeting with Attorney Weiner and Attorney Gazewood restrategy	0.80 250.00/hr	200.00
	JG	Review fee order; meet with attorney Walleri	1.90 250.00/hr	475.00
1/3/2013	MW	Draft motion to reconsider fee/cost order	4.30 250.00/hr	1,075.00
	JG	Review notes from meeting; review emails concerning fee order	0.30 250.00/hr	75.00
1/4/2013	MW	Draft motion to reconsider	5.60 250.00/hr	1,400.00
	JG	Review 09.60.010; review cases related to attorney fees	1.60 250.00/hr	400.00
1/5/2013	MW	Draft motion to reconsider	5.70 250.00/hr	1,425.00
	JG	Review and edit motion; review Walleri emails; review and edit second revised memo for reconsideration	2.80 250.00/hr	700.00
1/6/2013	JG	Review emails from attorney Walleri	0.20 250.00/hr	50.00

			Hours	Amount
F	For pro	fessional services rendered	292.55	\$71,587.50
A	Additio	nal Charges :		
			Qty/Price	
5/9/2012 N	MW (Copy expense - printing briefs	1 198.60	198.60
5/10/2012 N	MW	parking at Fbx airport	1 16.00	16.00
5/31/2012 C	CC I	Long distance phone and fax	1 1.71	1.71
C	CC (Copy expense	247 0.25	61.75
6/1/2012 C	CC F	Fee paid to Chase Hensel	1 8,366.66	8,366.66
6/10/2012 J		Travel Expenses for May 9 Airfare for Gazewood and Walleri 376.20, hotel 196.00, food 129.95	1 1,202.15	1,202.15
6/30/2012 C	CC F	FedEx	1 21.30	21.30
С	CC L	ong distance phone and fax	1 2.94	2.94
8/31/2012 C	CC L	ong distance phone and fax	1 0.12	0.12
9/28/2012 C	C L	ong distance phone and fax	1 0.10	0.10
11/30/2012 C	CC L	ong distance phone and fax	1 0.13	0.13
To	otal ad	lditional charges		\$9,871.46
To	otal an	nount of this bill		\$81,458.96
	Ва	lance due	-	\$81,458.96